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{a) Wri%e down the expansion of (1 + x)° in ascending powers of x up fo and meluding the term
irat, 2}

() By subzhmm‘afr an appropriale value for x your £XpAnsion i { o), find an approximate
value for 6-09%, Show all your working and give your answe comrect 10 Tour decimal

places. 3]
June 10
) 5
Use the binomial theorem 10 express (,l-i- x@g in the form &+ bv3 , -
where @, b are miepers whose values are to be fonnd. [31
Jan 11
{a) Usethe binomisl theorem to expand (3+ 2x)4 , simplifying each term of the expansio[%
{b) Inthe binomial expansion of (1 + -Fj:) , the coefficient of »~ is five times the cosfTicient
of x.
Given thatr is a positive integer, find the value of 1. - i}
June 11
a4
{a) Usethe binomial theorem to e’mmd {A‘ A) simplifying each term of the expaasion.
' 4
{b) The coefficient of x? in the expansion of (1+2x)" is 760, Ca‘-zven th R {5 a positive
integer, find the value of n. Eil
Jan 12
Using the binomial theorem, write down and simplify the frst four terms in the expansion of
(1- 2x)° in ascending powers of x. [
June 12

ia Enebsncmiaiugms;oa of {0 +42)5 wherea#Q the coeffemnt of the team 10 2% 15 :a-/;ae&;e

coefficiznt of the term in x. Find the value of a.
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